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. All the Dresses (a)/ looked good and (b)/ so | bought of it. (c)/ No error (d)
If my father (a)/ will approve (b)/ I will go to Bombay. (c)/ No error (d)

. When we reached the bedroom (a)/ | saw a snake crawling (b)/ on the ground. (c)/ No
error (d)

. None of (a)/ the twins (b)/ offered to help me. (c)/ No error (d)
5. The two sisters (a)/ shouted at one another (b)/ in public. (c)/ No error (d)

Directions: Fill in the blanks
6. If permits, we will go out for a walk.
@ Climate
(b) Wether
(c) Weather
(d)  Whither

. Man does not live by
@ diet
(b) food
(© meals
(d)  bread

. She looks as stupid as
@ an
by a
(c) the
(d) none

. He went to school to see the demolished building.
@) a
(b) an
(c) the
(d) none

. He lives the fifth floor.
@) in
(b) on
(c) to
(d) at
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Directions: Choose the most appropriate that is the correct passive voice of the given
sentence
11. Call the police
(a) The Police can be called
(b) You can call the Police
(c) The Police were called
(d) Let the Police be called

12. Who is creating this mess?
@ Who has created this mess?
(b) By whom has this mess been created?
() By whom this mess is being created?
(d) By whom is this mess being created?

Directions: Select the most appropriate choice that is the indirect speech of the question
13. She said, “what a careless person you are”?
@ She exclaimed that you are a careless person.
(b) She exclaimed that | am a very careless person.
(c) She exclaimed that | was a very careless person.
(d) She exclaimed that you are a very careless person.

14. Rajesh said, “ I bought a car yesterday.”
€)) Rajesh said that | have bought a car the previous day.
(b) Rajesh told that he had bought a car yesterday.
(c) Rajesh said that he bought a car the previous day.
(d) Rajesh said that he had bought a car the previous day.

Directions: Arrange the parts in a sequence to make them meaningful sentences and mark
your answer accordingly
15. | just

P. Congratulate him

Q. Wanted to meet him

R. on his success

S.and

(@) PQRS

(b) QSPR

(c) PRQS

(d) PRSQ
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16. (P) which is sold
(Q) for its horn
(R) the Rhinoceros is hunted by poachers
(S) at high prices
(a) QPSR
(b) QRSP
(c) RQPS
(d) SQPR

Directions: Choose the alternative which best expresses the meaning of the idiom.

17. Agreen horn
@) An envious lady
(b) A trainee
(c) An inexperienced man
(d) A soft hearted man

18. To turn over a new leaf
@ To change completely one’s course of action
(b) To shift attention to new problems after having studied the old ones thoroughly
(c) To cover up one’s faults by wearing new marks
(d)  Tochange the old habits and adopt new ones

Directions: Choose the one which best expresses the meaning of the given word
19. COY
@ Beautiful
(b) Sweet
(c) Talented
(d)  Shy

20. ABBREVIATE
(@) Shorten
(b) Enlarge
(c) Decrease
(d) Change

Directions: Choose the word opposite in meaning to given word
21. AMICABLE
@) Cunning
(b)  Shy
(c) Hostile
(d) Crazy
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. COMMEND
€)) Censure
(b) Condemn
(c)  Defy
(d) Defame

Directions: Choose the correctly spelt word.
23.
@ Fasist
(b) Facict
(c) Facist
(d) Fascist

@ Grammer
(b)  Grammar
(© Gramer
(d) Gramar

. The word lovely is
@ Adverb
(b)  Adjective
(c) Verb
(d) Noun
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sin“x.cos “x

(@) Tanx — cotx + ¢
(b) Tanx + cotx + ¢
(c) Tanx + C

(d) None

x2+1

: fex2+1dx—fe - dx =?

X

(@ e +C
b e flic

X

X

2

(c) X. +C

X

(d) (x+1/x)e‘+c

. [ e*sinx dx =?

(@ e*sinx+C

()  e*cosx+C

(c) ? (sinx — cosx) +C

(d) None

1 -3 2
If [2 -8 5] is not an invertible matrix then what is the value of 1?

4 2 2
@@ -1
(b) O

(c) 1

@ 2
|fA:[§ ’] the_nAlz?
@ [ ZF

(b)
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1 1 1
-ttt
(a)

(b)

(c)
(d) None of these

. If A.M between p and g (p = q) is two times the G.M then p:q is
@) 1:1
by 2:1
2+V3
©
(d) None of these

lim (1—cos2x).sin5x
’ x-0 x2.sin3x

—~~
QD
—

(b)

~—
(@)
N—r

(d)

10
3
3
10
5
3
1
3

. limx_)o
@ 1
(b) -

(©)
(d)

ax+bx+cx)1/x

11 lim, o (2

(a) 4abc

(b) (abo)'/?

(©) 2a

(d) None of these

12. If sinx + cosec x = 2 then sin™x + cosec™ =
@ 2

(b) 2n

(c) 2n+1

(d)2n-1

13. sin x + sinx = 1 then the value of cos?x + cos*x is
(@) 1
(b) 2
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(c) 1.5
(d) None of these

14. sin x + sin?x = 1 then the value of cos'x + 3cos'x + 3cos®x + cos®x — 1 is equal to

(a) 2
(b) 1
(c) 0
(d) -1

15. The maximum value of 3 cosx + 4 cos x is
(@ 3

(b) 4

(c) 5

(d) None of these

16. Find the value of \/2 +2 4+ V2 + 2 cosdA =?

(@) cosA
(b) cos4A

(c) 2 cos%

(d) V2 cos4A

17. sec A + tan A = p then what is the value of sin A
() Lt
pZ+1

p2+1
(b)
(c)1
(d) None of these

18. x + = = 2 cos 0 then x3 + — =?
1 X X

@ Ecose

(b) cos@

(c) 2cos26
(d) 3cos36

19. The value of tan 1°.tan 2°. tan 3° tan 89° =?
() «
(b) O
(1
(d) %
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20. The value of sin™! (sin %) =?
3T

(@ T

(b) s

(©) =

(d) None of these
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The relation ‘has the same father as’ over the set of children is
(a) Only reflexive

(b) Only symmetric

(c) Only transitive

(d) An equivalence relation

If A ={a, b, c}, then what is the number of proper subsets of A?
(@ 5
(b) 6
() 7
(d 8

What is the degree of the differential equation

L (2)' - (82

What is the equation to the straight line passing through (5, - 2) and (—4,7)?
@ 5x -2y =4

(b) —4x+7y=9

(c) X+y=3

d x-y=-1

What is the eccentricity of the conic 4x* + 9y? = 144?

(a)

(b)

(c)

(d)
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1. Which of the following is a vector quantity?
fArTfoi@a & ¥ Sia e gfey ufyr &7
(@) Time/ AT
(b)  Distance/ g1
(c)  Displacement/ faamdest
(d) Speed/ dTel

. Ifavector A = 2i + 3j, then the magnitude of a vector is

afe; e afger A=2i+ 37, ar e @fger & aikAmT g

(a)
(b)
(©)
(d)

. If a body starts from rest and travels 120 cm in the 6" second, then what is the
acceleration?

g g W3 oA @ I gE aXar ¢ AR o5 s & 120 @ & =T

HLAT &, d caloT FAT 82

(@  0.20 m/s°
(b)  0.027 m/s?
(c)  0.218 m/s?
(d)  0.03m/s?

. The slope of the velocity-time graph for retarded motion is
HeoT It & TAT JIT-TH T Ih FT Tellol &

@) positive

(b) negative

(c) zero

(d) can be positive, negative or zero
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5. The mass of ship is 2 x 107 kg on applying a force of 25 x 10> N, it is displaced through
25 m. After the displacement, the velocity acquired by the ship will be

STETST &l gTHTT & 2 x 107 fRam 25 x 105 N &l dof oIl 9T Ig 25 Hex &

faeenfaa g Sar g1 fovua & a1, et ganr 3ifoid 9er ghem

@) 12.5 m/s
(b) 5m/s
(c) 3.7m/s
(d) 2.5m/s

. Two bodies having masses m { = 40g and m , =60g are attached to the
end of a string of neglible mass and suspended from a massless pulley.
The acceleration of the bodies is
(@ 1ms-?

(b) 2ms-2
(c) 04 ms2
(d) 4ms?

. The momentum of a body is increased by 20%. The percentage increase in Kinetic energy
is

fordl T35 &1 HAaT 20% ¢ ST &1 aifast Soft # ufaerd afg &

()  54%
(b)  44%
()  100%
d)  50%

A small gap is left between the two railway tracks because

&l YoId 9eRAT & &I Teh Bl a7 ) o18 fear Jrar § 4ife

(@)  Itsaves iron/ Ig @l §ATAT §

(b)  To increase the strength of iron/ g &I dThd deTe & faT

(c)  For easy to make small pieces of iron/ &g & BIC Tehs I & & &
fore
it provides space of thermal expansion for tracks/ Ig el & forw e
fAEar &1 918 UerT adr g
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9. On centigrade scale the temperature of a body increased by 30° . The increase in
temperature on Fahrenheit scale is

qEPs YA X a9 gig 30° & | Beleerse YAE W gig Fansi
(a) 50°

(b) 40°

(c) 30°

(d) None

. The absolute zero temperature on Fahrenheit scale is

hgleese YA W WA g g o3l |
(a) 40° F
(b) 77°F
(c) 50° F
(d) 45° F

. Work done in converting one gram of ice at -10° C into steam at 100° C is

-10°C & T UH ah & geohg &l HT A Feolel o [oIU TS FSAT AT Hel

CRIK]

(a) 30457
(b) 6065 J
(c) 7211
(d) 616

. Dryiceis
& 9% g €

(@) lce cube

(b) Sodium chloride
(c) Liquid nitrogen

(d) Solid carbon dioxide
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13. The first law of thermodynamics is concerned with the conservation of
ISARTIOS HT UH7 e frae Tetor & e o 3meanRa & 2

(a) Momentum
(b) Energy

(c) Mass

(d) Temperature

. The power of plane mirror is
forelt FAde quuT T SHAT gl
(a) oo
(b) 0
(c) 2D
(d) 4D

. The man having height 6m. He observes image of 2m height erect then mirror is used is

forelt gafara &1 @5 6 mg , foRelT 9T garT 3dFr 2 m oar er gfafsd & ar
& ar Rhg quT & 3uer fhar T 2

(a) Convcave
(b) convex
(c) plane

(d) none

. A light bulb is placed between two plane mirrors inclined at an angle of 60° . The
number of images then formed will be

fordY Jod I a7 AT U & g 60° & HIUT 9T T@T AT § T delley drol
gfafast fr gar sas

(a) 6
(b) 2
(c)5
(d) 4

. The ray of light incidents on a plane mirror at an angle of 30° . The deviation produced in
the ray is

fopdY TS gdor 9X g faror 30° & HIvr WX 3mufad gidr & o e aor

HT AT TATHT
(a) 30°

(b) 60°

(c) 90°

(d) 120°
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18. Radius of curvature of concave mirror is 40 cm and the size of image is twice as that of
object , then the object distance will be

ST radel guuT T gl s 40 om § , ARG Sl arer yfafdw 2 e

arEdfash g ar a&d & gl S

(a) 60 cm
(b) 20 cm
(c) 40 cm
(d)30cm

19. JFIIT &1 HAGA HT IT 8-
Magnetic field measuring instrument is-
(a) I FEI/ gas meter

(b) URIRIAICY/ pyrometer
(c) &r HIeX/ taco meter

(d) shF9TH/ Compass

20. 3{HET J@T G AHT HI0T &-

The angle of dip at the equator is-
(a) 0°

(b) 30°

(c) e0°

(d) 90°
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21, fFT # @ 1 HROT Graeh AT JFdehcd 0T Gl &-
A magnet loses its magnetism due to which of the following-

(a) I T 9T/ on heating

(b) TE AR I/ on being hurt

(c) 3a8 & R W/ drop from height
(d) gsT &3t A/ from all these

22. oig d B3 H AT GhR § YFaeh AR ST Fehell 8-

An iron rod can be magnetized in the following way:

(a) 3hedr TYuT fafer A/ by single friction method
(b) aTgdr voT fafr A/ by double friction method
(c) ﬁ?\:{lf[ YRT I/ by electric current

(d) 3TFT FHY G/ from all of the above

ATUTIT THT AT W & WIS IWIT FAT 3167 F AT 30° FAT 60° SHror

SoTcll § 3eTeh GART &FeFd J & Tl § -

On displacement time graph, two straight lines make angles 300 and 600
respectively with the time axis, the ratio of the velocities expressed by them is —
(a) 3:1

(b)1:3

(c) 2:1

(d)1:2

€ STol TUT TIET & S F9eT 0T gIewr & -

The angle of contact between pure water and silver is
(a) 0°

(b) 45°

(c) 90°

(d) 135°
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25. WA qAT AeISNE T B FG e F AT sreeT a3 ¥, R=fF I -
Soaps and detergents make water good for washing clothes because they —
(a) T & IS5 dI1d Y FH FT &t &
reduces the surface tension of water
(b) TS FARAT I HH F d ¢
reduces its hardness
(c) 3% Tolcd A FHH I & &
reduces its density

(d) ST SNPER §T ¢d &

make it foamy
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. Which is the largest fresh water lake in India?
HRA H I gl AT §ad 37 il diT &@r g7

@ Wular lake
(b) Renuka

(c) Govind Sagar
(d) Dal Lake

. Which one of the following rivers of India does not form a delta?
R A Prafaf@a & @ s i@t ad 3eer A ga e

@ Kaveri
(b) Yamuna
(c) Mahanadi
(d) Narmada

. Deforestation results in which of the following?

gal fr Fer$ & gRumATaET RAeafaf@a & =1 g ar 2

€)) Drought

(b) Floods

(c) Soil erosion
(d) All of these

. Nagarjun Sagar project is situated on the river?
ARG AR aRASE 7dt W Rua 82

@) Tungabhadra
(b) Kaveri

(c) Krishna

(d) Godavari

. Pir Panjal range is in:
iR g & A &
@) The greater Himalayan
(b) The middle Himalayan

(c) Eastern Himalayan
(d) Southern Himalayan
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. The largest river of South India is:
sfAor 9RT 1 FE I A &

@) Godavari
(b) Krishna
(c) Mahanadi
(d) Kaveri

. Which of the following is not a Kharif crop:
ffaf@a & ¥ sla @iw i v 78 &

@ Rice

(b) Maize
(c) Bajara
(d) Jowar

. The richest reserves of iron ore in India is:
AR # i aTE FT F9d WG HER &
@ Bailadila
(b) Singhbhumi
(c) Piplagaon
(d) Rowghat

. The idea of fundamental duties is derived from:
Aifo® Fdeal F1 AR fFad garr o = §:

@) American Constitution
(b) British Constitution
(c) Russian Constitution
(d) None of these

. Who/which amongst the following is not a part of Parliament of India?
fArafaf@a & @ s/l aRa i gag &1 Rear a8

@) President

(b) Chief Justice
(c) Lok Sabha
(d) Rajya Sabha

. On which day the constitution of India came into force?
AR H1 Wiau fohe feer amp gam

@) 15 Aug 1950
(b) 13 Jan 1952
(c) 26 Jan, 1950
(d 26 Aug, 1956
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. Black soil is best suited for the crop of:
Freh AR RFEd vad § [T F9F 39gFT @ B

@ Rice

(b) Wheat
(© Cotton
(d) Mustard

. Which of the following states has no coastline?
frafafaa & ¥ fFw 59 fr FE gedar T8

€)) Odisha

(b) Gujarat

(© Mizoram

(d) None of these

. Garo hills, Kasi Hills and Jaintia Hills are situated in which state?

@ Kerala

(b) Meghalaya
(© Sikkim

(d) Mizoram

. The first Indian lady to scale Mt. Everest was:
AT3C TAFC Bdg HIA drell Ugal AR Afger o

€)) Santosh Yadav
(b) Bachhendri Pal
(c) Rajwinder Kaur
(d) Medha Patekar

. Who did give the slogan of ‘Jai Jawan Jai Kisan’
T A I FET F 1 AR fraer R ar

@) J.L. Nehru

(b) M.K. Gandhi

(c) Lal Bahadur Shastri
(d) A.B. Vajpai

. Who founded the Banaras Hindu University?
Tarw fig faeafagarey @ warmgen fFaar @

@) Gopal Krishna Gokhle
(b) Madan Mohan Malviya
(c) Moti Lal Nehru

(d) Mahatma Gandhi
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. High altitude research institute is at:
3T SIS HTWUTT WA ¢
(@) Gulmarg
(b) Ladakh

(c) Jorhat
(d) Pune

. Indian Space Research Organization (ISRO) is situated at:
ARAT 3aRer IqaeTe Faea (380) e &
(@) Chennai
(b) Bangalore
(c) Pune
(d) Trivendrum

. Pongal is the main festival of the state:
qieTer AT FT GHE ABK &

@ Kerala

(b) Karnataka
(c) Tamil Nadu
(d)  Odisha

. National Highway No. is called as Sher Suri Marg.
TS TSTATT HE&AT # W g& ART FgT A1 g

@ NH.1
() N.H.2
(© NH.7
(d NH.5

. Which country shares the smallest border with India?
I AT U HRT & AT FIH B AT WIHT AT 87

@) Pakistan

(b) China

(c) Bhutan

(d) Afghanistan

. With which work is ‘Golden Quadrilateral Project’ associated?
ot ager aRAeET e w1 § wefta @2
@) House Construction
(b) Road Construction

(c) Dam Construction
(d) None of these
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24. Which city is called the city of Lakes in India?
SR A sl F1 8T FH AT FT FgT AT 872
(@) Udaipur
(b) Chandigarh
(© Jodhpur
(d) Jaipur

. Oldest oil field in India?
HRA HT TG4 AT do &7

(@) Mumbai, High, Maharashtra
(b) Ankleshwar, Gujarat

(c) Digboi, Assam

(d) None
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